Sprendore HARUNA B-CO—X

Total Result

o N . PC1 PC2 Point
IRfL B | K54/ Fl = Point = Point | Total
11 111 [{EAE 2 THVIRI-F" Y T-1 0.203 195 0.058 197 392
2 116 | Bl EF =% Z ot — GSR 0.142 196 0.174 187 383
3| 68 |BmHh [ MG MGA 0.303 189 0.125 191 380
Al 77 |E¥E BH F—RXF o E—L—XTFTS54 F MK 0. 307 188 0.175 186 374
5| 144 |&£F REX Kk H /32 FRX-T 0. 386 185 0.142 189 374
6| 96 |Eafz J— aA—42 X TS5 S.3 FHC 0. 609 174 0.032 199 373
7] 150 (88K &9y RILS T 725y k/—X 0.523 178 0.157 188 366
8| 86 |=F i&HB O—%4 X 5> Sh.3 S/E 0.236 192 0. 346 172 364
9| 84 |XH HK MG Torw b MKI 0.472 182 0.224 179 361
10| 104 |imniE FEHRC (A EBN AN Ly F1800GT 0.596 176 0.208 183 359
11 72 |& FB&E RILAR PV544 0.954 160 0.072 196 356
12| 122 |/hith ffi =% ¥ro>v 9—~FT0 0. 231 193 0.528 162 355
13] 85 [f#aAK F| J4VIAT-5" Y 24 I 0.210 194 0.629 157 351
14] 140 | KIE f#5] N T4 hIUAL 1. 066 153 0.038 198 351
15| 113 |#EE {8 k3% + 1) 771600GT 0.964 158 0.128 190 348
16| 146 |7l g I/ — 4 0.890 163 0.203 184 347
17| 157 [Nl §F |[KRLP=x 911 0.901 162 0.178 185 347
18] 120 |E5%F Ruf O—A4 X 3—n0w/\ SP 1.371 146 0.020 200 346
19] 125 (¥ &k HE AB4AZ4 2 2000GT 0. 465 183 0.518 163 346
20| 145 |#2ly HA AXFE 7 IL k7 —72 XARS-R 0.358 187 0.636 156 343
211 81 |B5H = F—RF o E—L—XT54 k MK3 0.293 190 0.677 151 341
22| 69 |=%F [k k>47>7 TR3 0. 866 164 0.310 176 340
23| 130 |E& #Ath gy M7 —~ 0.615 173 0. 405 167 340
241 103 | K¥& —uF = aLEFrI 0. 648 1M 0. 383 168 339
25 118 |Zgih S = X529 —~FT01600GSR 0.495 180 0.574 159 339
26 131 |4 & &BhF| [MG MGB 0. 056 199 1. 000 140 339
27| 138 |85k #EEAN |KoH T 43— 0.913 161 0. 241 178 339
28| 151 [§dh &ppsk F—R—n\L TV 0. 664 170 0. 445 165 335
291 64 |/ % MG TF-1500 0.707 167 0.425 166 333
30| 90 [B#l ER/RF [R/NL 360 0.003 200 1.294 132 332
31| 105 |f&ElE R k>4 7> VITESSE MK2 1.511 139 0.112 193 332
32| 94 |MEEE = Ay kY 27 LT+ SR311 1.048 154 0. 257 1717 331
33| 133 |48O %47 (AN N M7 —~ 0.976 157 0. 359 17 328
34] 148 (= %0F k342 MR2 1.867 136 0.113 192 328
35| 88 |fRiIE EEM |hoH S800 1.375 145 0.210 182 327
36| 99 |ER BF= MG MGC 0.137 198 1.395 129 327
37| 121 |HE 1EA a—42 X J—Aawv/N AR YL 0.509 179 0.790 145 324
38 126 |BEO =— T4F7 v bk X1/9 0. 805 166 0.598 158 324
39| 153 [&®y FHIE BMW E30 AJUAL 0. 600 175 0.772 147 322
40| 76 |&F #BE T4 7w bk 500NUOVA 2nd 0.958 159 0.568 160 319
411 101 |AIE &HA = 2000GT 1.410 142 0.326 174 316
421 149 IRiE B2 HiE JxT7LT4L 1.878 135 0.216 180 315
431 142 |5 K {854 TIOTA AV N = 1.350 147 0.538 161 308
44 132 |TER: &E MG MGB 2.022 129 0.319 175 304
451 70 B sAth F—RAF o E—L—RXTS54 k MKI 1.380 144 0.648 154 298
46| 71 |FrJIl #0BA FA—RAF o E—L—RXTS54 k M1 1.247 150 0.910 142 292
471 129 |FHFE & MG MGB 1.475 140 0. 669 152 292
48] 102 AL HiE MG MGB 1.595 138 0. 649 153 291
49| 100 |iE2 & =% = 2. 0.630 172 2.456 118 290
50( 127 |&= 1&% = + 1) #ALB2000GT 0.833 165 1.769 125 290
51| 154 |IEEH #KEE AN AT LyYy 0.697 169 2.104 120 289
52| 114 |BHE E2 i 54947 0.700 168 2. 652 117 285
53| 93 |&EM E1T k342 A+ 1. 021 156 1.717 126 282
54 92 |&HF = MG MGB 1.070 152 1.435 128 280
55 106 |&FH = RILS T 911E 1.963 132 0.714 148 280
56| 143 |4#BiI E=E AILETAR DY 1.025 155 1. 961 122 277
57 152 I3A &EHA| =" —/\L  R—s8—T7 170088 1. 396 143 1. 339 131 274
58| 159 |FFH —5&h Kk A—/ R A—FKRXA— 2.040 128 0. 865 144 212




Sprendore HARUNA B-CO—X

Total Result

o N . PC1 PC2 Point
e R i = Point = Point | Total
501 97 |#2K {EHE 47 vk 500 1.109 151 2.310 119 270
60| 74 £k =B IF—RF o E—L—XTFTS54 F MK 1.968 131 1.046 138 269
61| 67 AR =& URL— 2100 3> 1.997 130 1. 054 137 267
62| 128 |Fa[E ==5h MG 2oz w 1500 2.132 127 1.043 139 266
63| 117 |'Bly =k HE 27 LT 42407 HS30 2. 651 121 0.898 143 264
64 136 |'AAX FH MG MG-B 2. 460 123 0.986 141 264
65| 63 ;IO 1&— koY kSO arr7nNy 3.220 117 0.783 146 263
66| 141 |45 FR:A J2x5—1) 308 GTSZ 7 raY7ILiR—IL 1.734 137 1. 891 124 261
671 160 |2 ERE |wv4s a— KX %4 —NB8C 2.644 122 1.166 134 256
68| 156 |##Hlsy B E—AHY +4 1.911 133 1. 967 121 254
69| 155 |FEEFE # 1A= F 7 2.672 120 1.196 133 253
701 124 |RE ZERk T47 vk X1/9 3. 587 114 1.122 136 250
1 123 |iE@A FH= =% < >t —1600GSR 2.383 124 1.948 123 247
72 87 |F@A = Sy b 27 LT 1 SP311 3.009 119 3.585 114 233
131 79 |#FHHF EX RILAR 122S 3.567 115 2.934 116 231
74| 135 LA &EA MG Ty bk 3.444 116 4.445 113 229
751 95 |/h#k  FO8A Xt5T4 xJ14.17 4.353 113 3. 447 115 228
76| 65 |FKR R k>4 7>7 TR2 0
711 66 |BH BF R L— RN)ILITT 0
78| 73 |8 HF MG MG-A 0
791 75 |'NEFE & MG MGA 0
80| 78 |HH MHHE RILS T 356B X —/3—90 0
81| 80 |BH =B Yo E—L LA1ET 0
82| 82 |Jllim IEA s S600 0
83| 83 |iRiE &ABA k342 R AR—v800 0
84 89 [B&H FIE MG MGB 0
85| 91 |#aK = T—1JR == 0
86| 98 |iME E— k342 ATYR— 0
87| 107 [iI/k =EE HE ANAAZ4 >2000GT-R 0
88| 108 A = R L— a)LRy G3 0
89| 109 |/ Mk FE 2 HE AHB A 54 220006GTR n-+F by7° 0
90| 110 | XKHE {& HE S e 0
91| 12 |1&EH #z HE AAAZ4 >2000GT-R 0
92| 115 |tk FHF aA—42 X 3—0w/\SP 0
931 119 /Mg MZFB |[FIo70ArAA o) FPR—IN— 0
94| 134 g =& RILSx 928 0
95| 137 |BHA %H—Hd |<%v4H H/NFRX-T & —7R 0
96| 139 |KiZF B =% Z o —42—K 0
97| 147 1&gt (ZL&H |B—AE2 X IRTY) 0
98| 158 |fEtE A E—1)— A—N—RTS54 k 0
86
11 163 |BlE —% k342 RATYB— kL /GT-V 0.137 197 0.211 181 378
2| 166 [E#s2 L UH [FIA ATY B8 —KL/ 0.425 184 0.513 164 348
3| 162 |=JIl H1th =R AT —FrL/ E-AES6 1.302( 149 0.105( 194 343
4 161 (8B S—B [~34 R TR — KL/ AES6 GT APEX 0.237 191 0.689] 150 341
5| 164 [lLE 5% k342 ATY B8 —KL/ 0. 481 181 0.710 149 330
6| 165 [AK#f A =R AT B—KL/ 3.079] 118 0.647[ 155 273
MINI

11 173 [ FF [EAI Aa—/\— el 0.589 177 0.083 195 372
2| 172 |18 E Bz Aa—/\— S AL T — 0.383 186 0.333 173 359
3| 170 |i@EB 1E/ [m—/\— S=—/n— 1.3i 1.901 134 0. 366 170 304
40 171 |k Aa—/\— 427 —1\—BSCC 2. 351 126 0. 382 169 295
5[ 167 [{&fE 5t Aa—/\— = =1000 1.348 148 1.158 135 283
6| 169 |1Ek [£E a—/\— == 1.417 141 1. 359 130 271
7| 168 (=41 4 a—/\— 427 —1\—BSCC 2.368 125 1. 468 127 252
8| 174 | B+ IE= ET—1J R 2= 0




